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 (a) Write down the order of rotational symmetry of the diagram. 

 

 Answer(a)   [1] 

 

 (b) Draw all the lines of symmetry on the diagram. [1] 

 

 

2 Write the following in order of size, smallest first. 
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 Answer  <  <  <   [2] 

 

 

3 At 05 06 Mr Ho bought 850 fish at a fish market for $2.62 each. 

 95 minutes later he sold them all to a supermarket for $2.86 each. 

 

 (a) What was the time when he sold the fish? 

 

 

 

 

 Answer(a)   [1] 

 

 (b) Calculate his total profit. 

 

 

 

 

 

 

 

 Answer(b) $   [1] 
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 For the diagram above write down 

 

 (a) the order of rotational symmetry, 

 

 

 Answer(a)   [1] 

 

 

 (b) the number of lines of symmetry. 

 

 

 Answer(b)   [1] 

 

 

 

2 Write down the next two prime numbers after 43. 

 

 

 

 

 Answer  and   [2] 

 

 

 

3 Use your calculator to find the value of  

o 2 o 2

o o

_
(cos30 )  (sin30 )

2(sin120 )(cos120 )

. 

 

 

 

 

 

 Answer   [2] 

 

 

 

4 Simplify 
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 Answer   [2] 
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8 (a) Shade one square in each diagram so that there is 

 

  (i) one line of symmetry,  

 

 

 

    [1] 

 

  (ii) rotational symmetry of order 2. 

 

 

 

    [1] 

 

 (b) The pyramid below has a rectangular base. 

  The vertex of the pyramid is vertically above the centre of the base. 

 

  Write down the number of planes of symmetry for the pyramid.   

 

 

 

 Answer(b)   [1] 
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 For the diagram, write down 

 

 (a) the order of rotational symmetry, 

 

 

 Answer(a)   [1] 

 

 (b) the number of lines of symmetry.  

 

 

 Answer(b)   [1] 

 

 

 

2 Calculate     3sin120° − 4(sin120°)
3

. 

 

 

 

 

 

 

 

 

 

 Answer   [2] 

 

 

 

3 Write the following in order of size, smallest first. 
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 Answer  <  <  <   [2] 
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12 Expand and simplify 2(x – 3)
2

 – (2x – 3)
2

. 

 

 

 

 

 

 

 

 

 

 

 

 

 Answer   [3] 

 

 

13 (a) Write down the number of lines of symmetry for the diagram below. 

 

 

 Answer(a)   [1] 

 

 (b) Write down the order of rotational symmetry for the diagram below. 

  

 

 Answer(b)   [1] 

 

 (c) The diagram shows a cuboid which has no square faces. 

 

  Draw one of the planes of symmetry of the cuboid on the diagram. 

 

 

 

 

 

 

 

 

 

    [1] 
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 This cuboid has a square cross-section. 

 

  Write down the number of planes of symmetry. 

 

 

 

 

 

 Answer(a)   [1] 

 

 

 (b)  

axis

 

 

 

 This cuboid has a rectangular cross-section. 

 

 The axis shown passes through the centre of two opposite faces. 

 

 Write down the order of rotational symmetry of the cuboid about this axis. 

 

 

 

 

 Answer(b)   [1] 
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 For the diagram, write down 

 

 (a) the order of rotational symmetry, 

 

 Answer(a)   [1] 

 

 (b) the number of lines of symmetry.  

 

 Answer(b)   [1] 

 

 

 

2 In a group of 30 students, 18 have visited Australia, 15 have visited Botswana and 5 have not visited 

either country. 

 

 Work out the number of students who have visited Australia but not Botswana. 

 

 

 

 

 

 

 

 

 

 

 Answer   [2] 

 

 

 

3 Rearrange the formula  J = mv – mu   to make m the subject. 

 

 

 

 

 

 

 

 

 

 

 

 Answer m =   [2] 
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1 The ferry from Helsinki to Travemunde leaves Helsinki at 17 30 on a Tuesday. 
 The journey takes 28 hours 45 minutes. 

 

 Work out the day and time that the ferry arrives in Travemunde. 

 

 

 

 Answer Day  Time   [2] 

 

 

2 T R I G O N O M E T R Y 

 

 From the above word, write down the letters which have 

 

 (a) exactly two lines of symmetry, 

 

 

 Answer(a)   [1] 

 

 

(b) rotational symmetry of order 2. 

 

 

 Answer(b)   [1] 

 

 

3 For this question, 1 < x < 2 . 
 
 Write the following in order of size, smallest first. 

 

 
x

5

 5x 

5

x

 x O 5 

 

 

 

 Answer  <  <  <   [2] 

 

 

4 1

2

1

 + 

3

1

 + 

4

1

 = 

12

p

 

 

 Work out the value of p. 

 

 Show all your working. 

 

 

 

 

 

 

 

 

 Answer p =   [2] 
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1 On a mountain, the temperature decreases by 6.5 °C for every 1000 metres increase in height. 

 At 2000 metres the temperature is 10 °C. 
 

 Find the temperature at 6000 metres. 

 

 

 

 

 

 

 Answer  °C [2] 

 

 

 

2 Use your calculator to find the value of 

 

6.28.12

4.36.28.1

222

××

−+

. 

 

 

 

 

 

 

 

 

 Answer   [2] 

 

 

 

3 (a) The diagram shows a cuboid. 

 

 

 

 How many planes of symmetry does this cuboid have? 

 

 

 Answer(a)   [1] 

 

 (b) Write down the order of rotational symmetry for the following diagram. 

 

 

 

 Answer(b)   [1] 
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